1. -1
(W) 1.00g/cm’
(9 3.15g/cm’
S 254 F.M 291
(G) 2.65 F.M 6.76
AE ) 1.05g/cm’
(AB) 1.00g/cm’
\%
© &
244
-2
-1
3 10
ga
vi(cm/s), Vo(Ccm/s) 2
2.
2.1
-2
-1 " 5
2.2
3 25
(WIC) (W) ©
s/a -2
= 4.5+ 1.5% .
ot 1.5%
AE (n) (t)
T= N+ )]
2 T (N cm) N (rpm)
AE
3.
2.3 5
(SLF)
sla

7-1-2



-2

700

wic| w C |9a sif stA si | siF v n T E_|
@) | kgm®)| kg @) | @) | om) | @em) [ om)| © | evseo) [ (N m min| (N m) 500
42 18 | 300 | 4.2 - - - 400 £
a4 20 | 380 | 42 | 1705 | 0030 | 1237 300 |
46 205|325 6 | 1820 | 0032 |1074 I
50 | 180 | 360 18£25[ - 200
48 20 | 410 36 | 3505 | 0019 |1.108 100
50 20 | 290 | 55 | 2250 | 0033 |1.114
52 195| 275 | 51 | 1665 | 0024 | 1480 - o5 . s )
40 - | 450 45 | 1870 | 0038 | 1.051 (N cm
42 - | 45| 5 | 2535 | 0046 | 1.306 3
a4 - | 455 | 48 | 1930 | 0038 |0.705
180 | 450 - | 45050
46 - | 448 | 48 | 1965 | 0041 |0542
40 48 - | 40| 46 | 3030 | 0027 |o0509
50 - | a20| 47 | 2085 | 0052 [o0017 .
4
a4 - | s 58 | 2275 | o041 [o720] T R
175 | 4375 46| - |ss0x50| - | 520 | 47 | 2700 | 0037 |o0622 gw I
48 - | 555 42 | 1735 | 0058 |0459] © 45|
a4 - |eos| 3 | 1400 | 0067 |0264 20 T
35| 175 | 500 | 46 - 600501 - | 620 | 55 | 16.40 0.064 | 0525 5
48 - | eos| 43| 1025 | 0075 0356 1: I ¢
0 ‘ ‘ ‘
sla 0 0.02 0.04 0.06 0.08
40 N cm min
35
o —=— W/C=50
Bl 4
£ —a— W/C=40:\W=180
S5t
20 . —o— W/C=40 W=175
li/ \J
15 ¢ /\ ——WIC=35 W/C=40%(W=180kg/m®)  W/C=50%  S/a=48%
10 |
s/la=46%
2)
(Fp)
43 45 47 49 51 53
s/a(%)
-5 ga Fp
Fp sa
-3 SLF
sla
SLF=-237.951 + 654.5
0.821 SLF
4,
V) 1).
-4 Y%
V=3.4994n %% 0.701 2). Ja
V
sa -5 1).
Vol.12,No.1,pp133-141,1994
2).

Vol.16,No.1,pp461-466,1994



